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(dAB)‘r = 25 m, (dAB)y = _15 m, (dAB)Z = O

s= VE@5mP’+(—15m)’ +0 = 15207 m
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= (4 kN) (0.1644 i — 0.9864 j)
= 0.6576 i — 3.946 j (kN)
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Mo = rajo X Fa
[15§ + 20 k (m)] X [0.6576 i - 3.946 ] (kN)]
[-(20)(=3.946)] i + [(20)(0.6576)] j + [-(15)(0.6576)] k (kKN'm)
(78.92) i + (13.152) j + (-9.864) k (kN-m)
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= M, =M, -i=[(7892) i+ (13.152) j + (-9.864) k (kNm)] -i = 78.9 kN-m
M, = Mo -j = [(78.92) i + (13.152) j + (-9.864) k (kN-m)] -j = 13.15 kN-m
M, =Mo -k = [(78.92) i + (13.152) j + (-9.864) k (kN-m)] -k = -9.86 kN-m
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